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Instructions to Students :
1. Answer all the questions.
2. Usage of machine design data handbook is permitted
Answer All Questions
Q.No Marks CO PO BT/CL

It is required to transmit 25 kW of power from a shaft running at 1000 rpm to a parallel shaft with a speed reduction
ratio of 2.5:1. The centre distance of the shaft is to be 300 mm. The material used for pinion is steel
1 (64 = 200 N/mm?* , BHN = 250) and for the gear is cast iron 25 CO3 PO1,PO2PO6 L3
(64 = 180 N/mm> BHN = 200). Considering class-Il gear with tooth profile 20° Full depth involute, design the spur
gear and check for dynamic and wear load.

A cone clutch has a semi cone angle of 15° and is used to transmit 10 kW at 1500 rpm. The width of the face is 1/4th
2 of the mean diameter of friction lining. The normal intensity of pressure between the the contact surface is 0.12 MPa 25 CO4 PO1,PO2PO4 L3
and coefficient of friction is 0.2, Assuming uniform wear, design the clutch dimensions. Take C40 steel and FOS = 2.5



It is required to transmit 25 kW of power from a shaft running at 1000 rpm to a parallel shaft with a speed reduction
ratio of 2.5:1. The centre distance of the shaft is to be 300 mm. The material used for pinion is steel

1 (64 = 200 N/mm?* , BHN = 250) and for the gear is cast iron

(64 = 180 N/mm* BHN = 200). Considering class-Il gear with tooth profile 20° Full depth involute, design the spur
gear and check for dynamic and wear load.
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A cone clutch has a semi cone angle of 15° and is used to transmit 10 kW at 1500 rpm. The width of the face is 1/4th
of the mean diameter of friction lining. The normal intensity of pressure between the the contact surface is 0.12 MPa
and coefficient of friction is 0.2, Assuming uniform wear, design the clutch dimensions. Take C40 steel and FOS = 2.5
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